Name: SubtraCtion: (ots of 100 from numbers up to 2000.

923 - 500= 1439 - 300= 1617 - 100=

565 - 400= 1440 - 600=_ 1977 - 500=

42z - 300= 823 - 200= 701 - 600=
1403 - 800=_ 1503 - 100=_ 1761 - 400=_

670 - 300= 1377 - 600= 955 - 700=
1477 - 600 = L 1494 - 300-= L 1502 - 600 = L
1435 - 900-= 1775 - 400=

Working Mathematically
1) A fish laid 1997 eggs. 600 did not survive. "’fg
How many fish did survive?

2) The Concert Venue can seat 1850 people.
If 400 seats were vacant how many ¢
people attended the show?

were sold locally and the rest were sent to the market.

3) The farm produced 1648 cartons of carrots. 300 cartons ﬁ
How many cartons did the market receive?

4) This year our school planted 1468 trees, 400 more than &
last year, in the local reserve. How many did we plant
last year?
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